www.tnpscjob.com

TNUSRB-2019

ﬁ# —
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General Candidates / Qung efledremLiLigmytsepdshug!.

aﬂ 1 L]
IS S Tene QUnS Csrié&ena 6168, allennggnedlein cufiens ered.

Vi1 2 b

OMR aflenL_ggmaletr eTaur 631800
e & Gs8) : FmuDmISEpenLo, 12, Fameur, 2020, Time / &m6VLD : 2:30 LoGw]
GpoLb : smenev 10:00 Loew] (LoFev 12:30 aueny Total Marks /Gongs wHLiGlLamseT : 70

R . ‘ Instructions — gypleengser
' rel;;;:zﬂf;:;gaper contains 80 questions in Part-A (General Knowledge) and 60 questions in Part-B (Psychology)

%?ﬂﬂ?gﬁrﬁﬁmg.@ ‘9 Qungs syPafleh 80 aflemnssepid, UGS ‘' 2-erallwed FUSSLNET un_dizedst 60

2. The type of question paper (A, B, C or D) should be shaded in the answer sheet using blue or black ball point pen.
The answer sheet without shading the type of question paper will not be evaluated.
@d{aﬂmnggrrfrﬂm awasamw (A, B, C or D) ader_sgnefled sisp@ammer @L g paib (Sysbas) sy 3D
Lmeb umf‘ﬂcm_' Quenmeraud Garam® ap®, Ve uler SLLajb. oSemdsnallen uams@wl UL
8Ll Lna, b5 allenL_ggnar oG i on gl

3. Write tllme Enrolment number using blue or black ball point pen at the appropriate box in the answer sheet.
aflenL_ggnafev, feuib (Hyebavg) s@UY Bp ured umdlan’ Cuartamas Qanatn() Gsisems aremaey H5HSTW
&L LS8 e1pB 196l uanL SLLayLb.

4,  Answer all the 140 questions.
140 Gaarafsens@Lh el weflds CasamGLb.

5. Each question carries half a mark.
geQeuncy Gaerallé@b Sjeny Lo@LIGuetT auprISILELD.

6. The answers to the questions should be shaded in the relevant circles using blue or black ball point pen.
afenL_aaer fevib (Hevawss) SGLIL BID Ao uned umfarn’. Guanrenaud Qanain( JESES UL L Msalst L
B ayib.

7. For each question only oné answer is to be chosen and shaded.
o6 damaipE e oL W GG L BLLajib.

8. For wrong and improper shading, no marks will be.given.
SUPTE UL L 8113 eanBevrt, Iy S56 Bssnisen QsiisnCan Sipss Gaenalé@ WHLGUST B 3573

9. Write the Enrolment No. in the question paper.
Goidens aramenemd Gaeradldg el erpsajLb.

10. Write the SI. No. of the OMR answer sheet in the question paper at the appropriate place.
OMR aflan_ggnafle erevaenewrd Gaeralggnefey e1psaib.

11. If there is any printing error, or error in page number in the question paper, the same should be brought to the notice

of the invigilator immediately.
2.1z aflennsgneich gGSEILD sydal WenpQuim, UsSEISET efwns @earal LG, Gupumieawraritb

perpud R sflwnen Gaarafdzneents QUpDIS Qaneresony JPNDSSILES DS

12, All the questions are bilingual except
urL L UEH (Byh&leh wppith B
Qsr@ésliul GareareT.
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language questions (English & Tamil).
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@RT ‘A’ : General Knowledgﬂ

Which is not an [nternational body ?

&
(A) SAARC  (B) UNO © IMF () THE
S1paS L vy eir 6131 2_6v& yeLDLIL| B)GVEMG’ ) ;
‘ &It (B) g&&w prBs6r SPSL
(©

USTRTIC () £§) BAmeuers (D) wueiterm () LoaslS 2 MenLod &LpsiLb

Who said the theory of ‘Non Elitist’ ?

(A) KarlMarx ~ (B) Lenin (C) Stalin (D) Mao'ffff'““g

2 wiigy VGLISesT ycveur Gl LML 1g.eanestd dnplweui W 7
SMIGV LOATTg e (B) GQovesfleir

(C©)  ev_neder (D)  wom-Gagymis

In which year the Family Court Act was formulated ?

(A) 1985 (B) 1984 (C) 1980 (D) 1982

GBbU B8 wepriser S5 HeT(h) SIUSHLILIL L ) ?

(A) 1985 1984 (C) 1980 (D) 1982.

Agricultural income earned in India is

(A) fully taxable (B) fully exempted:

(C)  not considered for income (D) None of these

QB wreaded Garerresrenin CU(BLONGIILD GTGHTLIG

(A wpupaugyh ur NS DG UL L g E’,\&E’
Ppaugih el elevs@pEL Ll L g BN

(©)  eu@oneronss SBSLIL (B eUShaney
(D) Qeuppled a1grayfsvansy
The book ‘Wings of fire’ is written by

(A) Indira Gandhi (B) LK. Advani
(C) Manmohan Singh (D) Abdul Kalam
‘dalls Ep@aer ere mrenev eI Bwaert ?

(A) QB8 s1pH (B) LK. gamed

(C) warGunser Ny

SYUIFIGVS6UTLD
Human Rights Day celebrated on

(A) 10" December (B) 10" March

(C) 25" December (D) 15" August

‘wesfls o Menipsair Sewip’ Claredsrm_ i@ BITGIT
WQ&Fbur 10 (B) wmis10

(C) w&bui2s
The Tenure of Munjcj

(D) ysav@ 15

pal Corporation Mayor is __years.

(A) Three (B) Four (C) Five (D) Six
wpsITC8) Gowdeir usaild smrevLh AT (BS e1rT(3 L.
(A) epe (B) preirg, CALE D) ey

——
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8. ‘@®buLd’ eTayth Cl&meh (LpSaHT (p5eilay @)LLD Cupp HI
Qg mevasmLiwLh (B) mHPlawawT
©) sprem (D) BGSGD

9. “srafQend saCar; &B&H0aLd swLU” ™ @)50sm_Ad ‘Feer GTGQILD
Qlaney o ewTiggLb GlLMbET
(A) wmps s@ad (B) Gumié s@wal

(C) &&58 @&l Geuerrant &@Had

10. “Banb ereiigyyid Gsripgnenys Clamael @)aLd GTGHTGYYLD
gLoLs amamanwd &@Lb" ~ @&@paieh @)L Lb ClLpmyerar %) Gwf]

(A) Geupmyenio jan] 7505 2 (Haus el
(C) Aoevblany yewd] (D) e1(9&5155M_(H 2aIeLD <9/ Guet)-
11. ‘G GTaT SYLDLDT' ~ GTGID BIGHGLI UL SSaui .
(A) @pL9 ureaLigenflib (B) saiepi (. Cogsn- E]%ﬁ
@ 91T, LIMGUE) (e GuT 63T (D) sail@yt &OST
12. ‘spiys Oswasmss Ol D S(Lpald, BILSS®S @upplLiai
(A)  p. @umosmLh) (B) Gs. om_gmb
(C) Ge. @umoragiggLd (D) Glewsmbs e

13. ‘shpL) USLILEGT SEGLDEGH’ GTeTDI GumppLiu®Leut
(A) @uon. 9. Gegiiferenars (B) (L. euISIIEFGITIT
@ 8). eau. s1GLng et (D) wumgGwmi

14. ‘5w wepalisr Qurpgih 61§ FLmGS@5Ld Gasamm = 151G 2 IS,
a1aunGp HleopCaupd Glewigaurt

(A) ung@wmi (B) wunmg@gnses
(C) SOTGmISTFGHT (LPLY. W TEFGET
15 am sepause upplu GBIy @Ltb CluppieTer s @QwsE&w mr6D
(A) wdumed &60l% 01z men %=
(C) QBB BTN (D) uSDmLiLSs)
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20.

21.

22.
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Shivani wears a belt around her I

@ waist (B) waste (C) weist«

Prefix for the word mature.
(A) unmature « (]3) dismature @ premature

Use the correct word.
Look, Shantha is going to from the table.

(A) sleep @ slip. (C) steep

Choose the reported form of :

I said, “Where are the boys ?”

(A) 1asked where the boys were.
(B) 1Isaid where the boys are.'
(C) 1declared where the boys are.

(D) I.exclaimed where the boys were.

Choose the sentence in simple past tense from the following :

@ She worked yesterday.®

(B) She was working at 9 a.m. this morning.
(C) She works.

(D) She is working right now.

Choose the correct question Tag.

Ajith seldom speaks in English.

(A) didhe?* (B) didn’the?
@ does he ? (D) doesn’the?

Choose the correct passive form.
‘I speak English.’ -

English is spoken by me.
(B) English are spoken by me.
(C) English is spoken by I. -
(D) English are spoken by L.

LRV

(D) weste

(D) enmature

(D) step
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23. Mean and variance of binomial distribution are
(A) nq,npq (B) np,\npqgs (C) np,np (D)
FBQILILL Lgeuedlelt #ame pmib LgapLIL
@ nq, npq (B) np,\mpg  (C) np,mp (D)

24.

25.

26.

27.

28.

The value of [3]+;;([5]+13[6]) is
(A) [0] ®) [l © [2] (D)
31+, 51+, [6]) -0t By .

(A) [0]: (B) [1] ©) [2]

If (3] = 13, |b| = 5 and 3-b = 60, then the value of [a x b] is

(A) 45 (B) 35 (C) 25 (D)
31= 13, [B| = 5 topputh 35 = 60 ereulab @ x b| -eir oBIILY
(A) 45 (B) 35 © = D)

a b,
The adjoint of the matrix |:c d} is

a b -a -b d —b:| D)
(A) L d} (B) [_c - d} (©) [’c Ol
[a b:lmeﬁpg;mﬁﬂuﬂsﬁr(hﬁﬂchmﬂ
c d
b -a -b d —b} 5
(A) [: d} ® [—c -d} @ [—c a|. @)

The rank of a zero matrix is

(A) 0 (B) 1 (C) -l (D)
ysFuw oy eefudGiT SILb
@ 0 B) 1 C) -l (D)

Value of log;5 logys27 is

2

A) 3 (B) 2° © 3 D)
log,5 log,527 —& WL

) 3 ®) 2 © 3 ©)]

np, npq

np, npq

3]

3]

15

15
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30.

31.

32,

33.

34.
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In a closed organ pipe, the frequencies of harmonics are in the rsltlo S oo
(A) LL:Ll:... B) 1234 ... (C) LR et (635@755561’
PG W ST @ ipmuiled, GuopsgiiGanar 218)16)eucwTS

(A EELls... B 12340 @ 13:5:7: wreee )

The ratio of velocity of light in air to the velocity of light in medit

(A) dispersive power of the medium  (B) dispersive power Ofthe.a]r
(C) refractive index of air (D) refractive index Of{nedmm
STHRD ol Hms GCaussHPEL. LSBT &
Cousg@n G 2 direr saa) .

(A)  2e1_s5Beir 9IRS et smpfer IAGp&T
©) snpHer el afevad i (D) sa_ssBar gl allvaed eTesT

A card is drawn at random from a well-shuffled deck of 52 cards. The probability that it
will be a spade or a king is

et Beng

17 4 9 5
W) 53 ® T O 52 (D) 7
BTG  somwss ABEE e@ausslulL 52 FLBS@ETE Qs masL_
8 Bés 19 mig sw wmitiy pepilsd @ S0 TBSSLILGEDS.

IBsF GG avBurnsGeur (spade) gevevgl @unensGeur  (king)
QaLiuspsTeT Dspss)
17 . \ 4 9 P
A) 5 E © 2 D) 36
.. : | - . . Lﬂ%&@
A die is thrown twice. The probability of getting a total of 9 is i
4 5 2 1
A) 5 ®) 3 © 3 D) 3

R Foner LS @HUP®D 2 (BLLLILBSDS. (Lps 1aTsaleT FnBS60 9
FenL_LILSDSNET BELPS56

4 3 2, 1
A 3 B) 3§ © 3 5
Momentum of a given body is doubled. Its kinetic energy becomes (mass not changed)
(A) doubled (B) fourtimes (C) halved (D) Remains the same.

@@ Cunmellar 2 s @ wLBETs JDsNEEDG. IGLTs 9B
Qués Yo (Blevm wrprs Cung)

@ @)@ WL mSTELD (B) BT&@ L mMIEmELD

(C) wnGwngtd (D) waprg "

If the temperature of a liquid is raised, then its surface tension is

(A) increased (B) decreased

(C) equal to viscosity (D) Does not change.

o5 Biwg@er Qoo oPsfgsndh, g Ly @ ualas
A) aABsheEL G) o

(C) umdlwed TaE&EGS swb (D) wrpgy -

AAARA- t ra) p SC. J| ob.com
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37.

38.

39.

40.

41.

The element used in pyrotechnics :

(A) Barium (B) Calcium (C) Berylium (D) Magnesium

sy CsmPledled LwesTLIBLb Sesfloh

Gulwb (B) &mev@wib « (C) GulaSwib (D) Qs esfFusLh »

alkali metal is used in photoelectric cells.

(A) Li (B) K (C) Rb (D) Cs
&y 2. Canstb gefl hletsevnisafleh LweSTLBSSLILIBSDSI.
(A) Li (B) K- (C) Rb (©) Cs-
Which element is used as moderator in nuclear reactor ?
(A) B! (B) 4B () CF D) N
) 2 sEaled L BLUIUGSHwnsLs LwWeTLGILD FesfioLb 6157
(A) (B! . (B) (B! © " (D) N
The principle used in lightning conductor is
(A) Electro-magnetic induction (B) Corona discharge
(C) Total internal reflection * (D) Ohm’s law
Lheirarey &L_gBseleh LWeTL(BHLD SS5GIaULD
(A) LOGT &Mb5S SNEUTL_GV * @) gafleul’ L LhlehraslipdaiLd
(C) wpp & a186lgmelliL (D) gLhler allG
E4E
26

The energy equivalence of 1 eV is \
(A) 6.606x 107%] (B) 931 x10°J

(€) 1.602x10°2]7 (D) 6.626 x 10734]

@@ e1evs L gmest Geumevr- (eV) &@&d FLDLOMGT JODGV

(A) 6.606x 10734] (B) 931x10°]

@ 1,602 x 107197 » (D) 6.626x 107347 ¢

The compound found in some stony deposits in kidneys is
(A) Oxalic acid (B) Potassium oxalate

(C) Calcium oxalate (D) Aspirin
AnBrssBa se Gureigy sreRTiLIGILD GgrioLh
(A) cga';arnmﬂa& 9/LblevLb

@ sreGlwid psFGaL (D) gy avLifetr s

“Bucky ball” is an allotrope of element.
(A) Tin (B) Carbon (C) Sulphur
“1 138 umed” G1GTLS geflogGlan LpCauppienLo el aLb.

(A) @msﬁafwm GITTLIGH *

www.tnpscjob.com

(B) Qunn®uwib &Gl »

(D) Phosphorous

(C) &ebur (D) wumGVLITEY =
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42.

43.

44.

45.

46.

47.
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An example for synthetic auxin is
(A) TAA (B) PAA! (C) ABA @ NAA
Crwpens gysalsese e 635650 NAA
(A) 1AA (B) PAA (C) ABA @

Which pathogen causes Tikka disease in groundnut ?

(A) Cercospora personata (B) Pyricularia oryzae

(C) Xanthomonas citri (D) Tungro virus
Blovda_amauiled 19 &5m Grramw 2 BaITSSLD Gpmuyuii 613 ?
&G mav Gumgm QuisGarLm *

(B) enulgCevnAwn @enpgGs *

(C) anECsm Gumesmav LM

(D) &miGor eweugav

Proteins on hydrolysis gives

(A) » Carbohydrates (B) Ketones

(C) Amino acids (D) Carboxylic acids

YISmS®aT Fomp UGSSTe Sl sGng).

(A) amiCGunenaniy CuL’ (Haer (B) &L GLnresen

@ LA Bastr 2y Lbevmig 6 (D)  smiuns§edls 2yLbevmiser

The inherent potential of any living plant cell to develop into entire organism is called
(A) Differentiation (B) Organogenesis

(C) Morphogenesis (D) Totipotency

o Wmerer @@ Smeus GlFed, (pupS STAIWTS 2 (HuTEGLd Smer
BLpSSETL_ QUMD YD PSSLILIBEIDS.

(A) wmmur® e G6 (B) e piiysetnésid

© ypsGsampp o (Goussid @ WS 8maT ClupmieteranLo

Which of the following is a long day plant ?

(A) Tobacco (B) Sunflower Eﬁﬁlﬂ
(C) Maize (D) Wheat B
BeT LS FTUISHDEG THSHISSTL(H)?

(A) yevsullansy (B) @Mwsnps

(C) wasTEGFTaTLD GangieoLo *

The unit of genetic map is

(A) Morgan (B) Locus 4 (C) Metre (D) Centimetre
oL QU IUL SFGT ev@ _ eTarLi(pILb.

@ DTS GST (B) Gamsev  (C) b (D) Qg B 7
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48.

49.

50.

51.

S2.

53.

Nyctalopia is due to the deficiency of -
(A) VitaminA (B) VitaminD (C) VitaminE (D) Vitamin K
Tenevs sev GBALl 1HET & pUITL LY a6 apuG DS ?
aneuL_L_Lblast A (B) amaul_L_tblerD

(C) e LAGTE * (D) emeuL L LBlar K

In human, cholera is caused by

(A) Salmonella typhi (B) Yersinia pestis

(C) Neisseria gonorrhoea (D) Vibrio cholerae

wellsafey srewyr Cprevws Campmiails@Ld Qzmpmiuy

(A)  &revLonaTeeVT eoLLI (B) eri@asflwm ClavLg av

(C) BevGeMwm QanGermdlum » aIIAGwm a1 Gy I_El_ﬁ:@
il

The osteosclereids are seen in

(A) Seed coat of pisum (B) Seed coat of crotalaria

(C) Pulp of pyrus (D) Petioles of banana

oy avrg CumavBatens® &mewtiL(BLb UGS
UL nesilfer efensyen  (B) @CumLGavdlwm aflengwemm
©) Gulsgsmier sas Gla * (D) eumenipuilenauilei SaLbL

In Brain visual area is located in
(A) Occipital lobe (B) Parietal lobe (C) Frontal lobe (D) Temporal lobe
eLpamamuiles LimienaILl LGS 618 ?
L9_Ma sSICIL] (B) 2488 5gILIL]
©) Grpdlé a5 (D) QI (& SFILIL] *

Which one of the following hormone involved in retention of water in the body ?

(A) Thyroxine  (B) Vasopressin  (C) Oxytocin (D) Adrenaline
BrpdaaL_auppier 61ss apmiGLOTGT pLb o Lalev Bevg AmsHs Camereued
TR L (heTend?

(A) esgnsaden aunGevmtigevedie
(C) delGLnGler (D) oy rfewredledr

Which plasmodium causes “Black water fever” ?

(A) Plasmodium ovale (B) Plasmodium falciparum»
(C) Plasmodium malariae (D) Plasmodium vivax

s1bs LemavBomyugsred “SmBbT HTUEF” apuBSDSI?
(A) ernavGiomguib @GeuGev ermer Gomig with ooL1me0SGLgLD
(€) ermevGomguih oGevriwm (D) WenrmavGLomig wLh neueuTsau
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ihatratha
The last Mauriyan King was (D) Brihatrat

Shyamitra
(A) Kunala (B) Dasaratha  (C) nl’uah)ﬂl“l o
Quardus Guag®eir sevr & sypat wii uuBATe @ L H&HHTEET
(A) @ewmanesr (B) segser (C) ejapw

Who was known as “Lakh Baksh™ ?

(A)  Qutbuddin Aibak « (B) ”‘“"““Sh
(C) Balban (D) Raziya
“end uday” eTew gmpéﬁﬂu@umﬁ lurrﬁ'.’. .
@ @B O (B) @sv@ay
(C)  wmsber (D) @u o
The capital of Magadha was ’ i
(A) Rajagriha : (B) Ujjain (C) Kosala (D) Kansansi
WIFSBS sevapaah
@ Q@& ma (B) 2 ganguiails
(C) Gansauib (D) Qaergnmibly
Who proposed five kingdom classification 2
(A) Carl Woese » R.H. Whittaker
(C)  Anstotle ) John Ray
LhIva s Ut e wpe1Qwmflhsai
(A)  &aieb Caunudav (B) R.H. afl' Gr&i
(C) yAavalgev (D) gneir Gg okio]
) 19 & E:‘;ax?ﬁ
The Kohinoor diamond was taken away by
(A)  Ahmad Shah Abdah (B) Nadir Shah
(C)  Shuja-ud-Daulah (D) Najib-ud-Daulah
Car®enri eneugdens 14514 Qaetneur wni)
(A)  HSH-apT-L50160 @ BIRT apm
(C)  afgr-2 5-Cperevn o (D) peiir-2_g-Qgenevn

The Headquarters of Servants of India Society

(A) Pune (B)  Mumbai (C) Allahabad (D) Nagpur
Q3BPw ussflwneni #8153 Bs1 sensvenowsih
Lo » (B) wpbewus (C) Qv&Erung (D) BAS LT
The uitle Sakari was assumed by
(A) Chandra Gupta | (B) Samudra Gupta
(C) Chandra Gupta Il (D) Kumara Gupta
#1ai e1631p OV BHI0 Quwengs Osrest_eurt
(A)  wppeomb apBy @5 (B) 2387 gz,

@oemb sp87 5054 (D) @y glis

——— —— —
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61. There are numerous industries in the places such as Vaniambadi, Ambur, Ranipet
in Vellore district .
A) Tannin B) Silk weavi Sugar
(GG)UQW? Lngrmm;:_(.ézﬁ,)@yshmm&n;?mg&@ungm, D4 LDLYT, @gﬂmﬂ:.‘:@u:_'.ma_
DG Q)L BIS6fey HIDMISSewTs S mewt G)g,rrbé?,:jarnsmva;dr 2_GiTeneul.
(A) Gsned ugalBze (B) uL® GB&ay
(C) sidsey (D) &06)evsr

62. The river which is involved in the dispute between Brazil and Argentina lS _
(A) Laplata (B) Orinaco (C) Congo (D) Mississippi
SCrRaus@d yitlgengamalp@ @ Gu 2-6rar L 7éFlanamss @i

J)
s =

@ eomlermLn B) eAamGan
(©) &mmGsn (D) havadledlis »
63. The sea tunnel Railway line beneath the England Channel Connects the two cities
and ;
Paris - London (B) Oslo - Coppenhagen e
( Stockholm - Hamburg (D) Cairo - Athens

rfws sranuilarnguiey GlFegiLh sLs GoLea eyl @ouiled
Curs@GuIss @)emdEGLb @)Ta(B) H&IBIS6HT LopmILD .
(A) wumfev - ()euevsrL_ e (B) evGer ~ CarLiLcCams e
(C) evnéGanmb - Gapibuiié (D) GlawiGym- A6
64. Pulakesin-11 defeated Harsha Vardhana on the banks of the river
(A) Yamuna (B) Narmada (C) Godavari (D) Ganga
@)yessTL_mb Lc0lC5 &) DD EIFETUIGY aniayeUisseTeIs
CasMnaLy.SS .
(A), wpemar  (B) piwas  (C) Gargmeul (D) &mS
65. When was Kalinga war held ?
(A) 271 BCE (B) 261 BCE (C)» 251 BCE (D) 241 BCE
saddisL) Gumit e1iGung) pevL_OLPDS) ? 55
(A) Qum.y.p. 271 (B) Glm.g.p. 261 R
(C) Qum.gy.1p. 251 D) Qum.sy.p. 241
66. The famous physician of ancient India was
(A) Nagapana  (B) Asvagosha (C) Vasumitra (D) Charaka
LaTenL_w @pSwnailer s pLilds LFSSIuTTE allenm Gl e

(A) BrsUTGRTT (B) yHxauCsmayi o
(C) eusHLOSB i FOSIT

67. ___ waves of the Sun are perceived by the skin as heat.
(A) UVlights (B) Infra-red (C) Gamma (D) Beta
Ghwaflar____ s8isamaer Gzmeb QeuliuLbns o eTi&ng).
(A) Uy 2a151s SHisseir FEFULIYS SF)TH6T
(C) &ALom &Hiser D) L ms@iser

www.tnpscjob.com
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Plan Holiday - Period. o
(A) 19561961 (B) 1969.1974 (C) 1966-1969 (D)

ks mﬂ@(gpsm,g) &MeVLD' 615 ? 1961-1966
(A) 1956-1961  (B) 1969-1974 @ 1966-1969 (D)

& : Station.
69. Indian Railway provide Wi-Fj facility first in India hls S R;])l)w aj]':/lumbai
(A) Chennaj (B) Bangalore (C) Delhi & Blenewd s
QB&w @) ruileh Gey wpsa (Lpgedley Wi-Fi wFHew_____ @gu_ﬂ B 585
Osm_mGug .
; ) U
(A)  Gleciranan  (B) « Quriseasm (C) Glaball grer

70.  The concept of ‘Quasi-Rent’ is associated with
(A) Ricardo (B) Keynes (C) Walker (D) Marshall
‘Gunes) aumpp’ I (B wWiHL e Qsm_iyeLws)? o
(A) AésmiQLr (B) &aranv (©C) eunssi LDITT@HGV

68.

71.  El Nino and Lanina Currents are referred as the Children of ocean.
(A) Atlantic (B) Pacific (C) Arctic (D) Antarctic .
eTeLheTGLm - wrbearCunr Sy L miser GRS T (& LpbaSsar
OTS 3 LP&SLILI(H S G ey,

(A) Sy evreig s » Lei9s
>

O idys ) YTy &
72. GoodF ishing grounds are found in the ____ part of the ocean floor.
(A) Continental slope (B) Ocean trench
(C) Continental shelf (D)  Ocean trough
2bleh 10ss Apis Ber 19y ssemiiser Loy fles Csippwmer
L& 5 ulleb &ML (h &) e,
(A) sew_g aflay (B) QuurisL e &L ¢
@ SGTL_G B (5) (D) Ou@EsLs) EYEITY sm
H-wein)
73.  The World’s largest river plain is ot
(A) Mississippi — Missour; « (B) Ganga- Brahmaputra
(C) Narmada - Tapti (D) Uruguay - Paraguay
2 w8IGCW 5L Quilw Sypmd s100eeNaer —_swlaselsarnmgLb.

(A)  BevadledILis - LHGFar) SIS — gibLoL S S
+ (C) piivers - su8) V) 236G - LgngGay

74. ‘The Gateway of Tamil Nadu’ is '
(A) Mumbai (B) Thoothukudi (C) Delhi (D) Chennai
‘SLpaS P Biapamie’ eg) o
(A) @pLbenLs @) y§g$@4 ©) Géval (D) Glscirency .

e P ————
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1S, Example of small scale industries, i
(A) Soaps production :
© Tron Seosliitiee (B) Cement production
) _ (D) Pottery production
(Ae’l)” 8.5’79?613 @@WWEJS@G?.&HW a‘r@,&gﬁaﬁﬁﬂig"
G'TTLJL’ .gu_jnfﬂ‘g'gssb (B) @G) ey "W
© Buod 2l LoawTL”. Swinig g e
'OXY swnggen LOL_LIMGYSTL_ M1 6l Mg sa
) Swnmssev-
76. GST stands for
tg)) goods and Supp}y Tax (B) Government Sales Tax
00ds and Services Tay » (D)  General Sales Tax
GST Wetr e Reungap
(A) Gﬂdi'-@ LD,!I:)QJLb Sofliiy ) (B IY0& allpLenaes eu
@ 015G wpmIb Csemey au) D) Cung aMduener auf
5@
SRS
77. Who is the father of statistics in India ? E%"’
(A) P.C. Mahalanobjs (B) AM. Khusro
(C) Dr. Vijay Kelker (D) K.C. Pant

PE: L& Graie
(C) Dr. aflgus Gasvasi

SHIMI e PELILIBLIGUT wymit 97
(B) AM. gavGyn
(D) K.C.ups

78. Indian rupee was devalued times since 1947,

(A) 3 (B) 4 €) 2 (D) 1
@pPw emumi 1947 = @S mis (e R IIDEsLh Gt g,
3 (B) 4 - © 2 (D) 1

79.  Chennai is also called as
(A) Detroit of Europe (B) Detroit of Asia
(C) Detroit of South India ¢ (D) Detroit of USA
Qestenan___ a1emeyb gyewipssliL@®Pns.
(A)  @Gomiiunefer QL gmii A Pwneder QO gmii
(C) OCzereflp@wmadlesr Ot gmi (D) USA afeir Qv g

80. Consist of illiteracy was related to which problem ?

(A) Infrastructure People related

(C) Leadership related (D) None oft!wse
sevallwplalerenwo e1ggy it GmiLjeLw gégene ?

(A) o6&l Lenwliy (B) waés6r Qsmiyen_w
(C) sewenL Fips (D) Q@aupmlev e1g6yhleene

waww tnpsciob com
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|[PART ‘B’: Psychology|

Read the information and answer the question. - 4 and English. C and B were
In a school, there are 5 teachers. A and B were teaching Hindi an

: ics and Hindi. E and
teaching English and Geography. D and A were teaching Mathematics

B were teaching History and French. -
Who among the teachers are teaching maximum number of subjec 5
(A) A (B) B (C) C (D)
SHAUMG 561(& LI S5, LIS STaLb. . .

P : i &lev(LpLb
PG vsitelluileh 5 o @ Mwiiser o erenewi. A pHmib B ,@ﬁ,ﬁ@ﬂgﬂs %f i L
DY sOHeipeni. C wppb B gydi@epib, _um.ﬂ "J%Gh mﬁ@’fs
SG&@pani. D wHpb A sellg(Lpb, ablpSud SHMIS S(BSHETDETIT.
wPId B eugevngyih, 905e5aib SpHms SBF DG,
whm 8% e1evsenilsensullevnesT LML misemerd SDOMIS HHSSTDEIT ?

D 2

(A) A ®) B © ¢ (D) ) L. ©

. ; : N
Read the information and answer the question. '

Five books A, B, C, D and E have to be proof'read in 6 hours; one hour needs to be spent
for one book. A break of one hour is to be taken in the 3" or 4™ hours. The proofreading
cannot start with A and has to end in C. D has to immediately follow B with no break in-
between. A cannot be done immediately after D. A has to immediately precede E with no
break between.

Which book is to be proof-read immediately after the break ? El%&m

(A) E (B) D (C) B D) A R

SEUD B651G LI S, LB FyayLb.

(A) E (B) D © B D) A Y
e SN B -7
_____ -
s
-
R

www.tnpscjob.com
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If_{leacll the information and answer the question.,

st::;g:]g_ -slf:; l:rllu fl:re(:m fhol?‘le at 10.25 am, it took me about 28 minutes to reach the railway

the train had ayrrive]z » the train was late by 42 minutes. It finally arrived at 11.25 am. If

) Tmi on schedu]t.:, by how many minutes, I would have been late ?

THRVIES (B) 10minutes (C) 11 minutes (D) 12 minutes

BEUMG BT LI S5I, Caeadlsens@L UBGD SIa/LD.

gﬂmzsu 10.25 wenlls@ oI almpg YplULL G1aTES, @guilsh flenauwil
Em'mfm'—_m-‘g’rfb@ 28 PO_riser e, e IBiapl @ouiled 42

“ﬁ"‘s?l._wam SNSLONG bS5l 95 sl Gl srae 11.25 wenflé g bl

Gg_”ﬂ’g’gd' 2@ Gauamer @riled @Hés GrrLiuy. FiuTs BB (BHBTE, BET

6T6lIGUaTeY BILOIL_ MBI 6T STLogLonG udlm LI GLeH ?

(A) 9 AuBmisar (B),10 Al riser (C) 11 Hblrsser  (D)12 EWOL_rime

%

A 3"y 0%
Study the pie chart and answer. 5 b } h:
_ B =4
2y \ ’
o ]

\ ’ \© )
. %

\ >

V'
Science \ / W

80°

Social
Science
65°
The marks obtained by a student in Maths,
given.

Full marks of the examination is 540.

In which subject, the student has got 105 marks ?

(A) Maths (B) Science (C) Hindi ' (D) English
oL QUEILIL S BeTE LSS, L9GTL| LISGL ST@YLD.

@36
3

oflaflwey, FePS oafwey PILD anlp% cg,@tu
L riselley @  LomewsTauil Qupp PGS L ueIULSEe
2 6TeTE). - .

Garraller Gonds wHLELGTSET 540 HBL- o

b LOMGRTaUIT GThBLI UL gse 9155 o)1 6)LIGEST Cumpm '." -

(A) sefig » (B) gyPlailwey @ a5 (D) o EELD

E————
. e, — —

R
—
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Study the table and answer the question.

Age Group Percentage
upto 15 yrs 30
16-30 yrs 22
31-45 yrs 18
46-60 yrs 16
61-75 yrs 09
75 and above 05

Percentage of total population for 2011 under different age groups is given.

If there are 45 million people above 45 years, then how many persons will be there in the
age group of 31-45 years ?

(A) 3 million (B) 27 million
(C) 36 million (D) 25 million
L LU F6iTE) LiLg.55), Cadiralls@nd@L LS sraLb.
QW UILDLY 5a9%)51D ,\] : "7/0 T\la/‘.'
15 30
WG auUeHT oy, E'E.SL@
16-30 US| GUGHT 22
31-45 quwigy eueny 18 o
” _ e
46-60 auwg) eueny 16 W 0
3l . . f r\J "
61-75 euwg) euany 09
75 auwg14@ Guoad 05 W

uebGam  wgsalsd o e Qongs wéser Clsrensuleir F5a01%)5Lh
G)asrr@éaﬂu:_'@drmg;. (2011 yamg gniemr_uig))

45 uw&mne@ Gue 45 Wlevaweir odsih
siSgenet Gum @wLiLmigsr 9

(A) 3 Blebelwiair ® 27 haveSlusair
(C) 36 hlebaSluseir (D) 25 tAleveSweir s

QEsTe, 31-45 QUTLD LI (&6

-

—
e | —
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In the Olympi
ympic games
» the flags of 6 nations were flown in the following way :

The America
n flag was t
o the left of Indian flag and to the right of French flag. The

Australian fla
g was on the ri :
was to the left of Chinese ﬂr:iiht of Indian flag, but was to the left of Japanese flag, which

Which are th .
(A) Indi e 2 flags that are in the centre ?
ian and Australian fla e

(C) Japanese and Australi ig1$ (B Aasiea an Indian tlags

FEAIMHE IS LGS aélg ags (D) American and Australian flags 3 Fh

@a0lLbL9 mﬂmmwffj,sbﬁmmﬂa@agﬂ LBl S7aLD- |

“ﬂgf’&@ﬂhﬂui&@ﬁgﬁw. 6 prpseller Gs8Wws Qamgser ECrp o-eraralTDl

G Msss s i ; .

Qs mig ucT aIeS) LL;Lmepm@fﬂ%;;. Gangder @ug Lpwh IS

i%?ﬁ?;ﬁ“ip%g&@@ﬁgw& Q&miguicT aIGVS Lm(pLd, Faurs Q& mig.uflest
& [TGUST ; : ; 5 ;

'-J-’l"!f.’.ﬁgl. (555 QUILUTEILS Qamguia @L-gl LD \

L EROLEIC) Q& Mg.56T BB @IV LDHSET ? L > 37

@BSw LHDILD gy av®Cradlws Q& MLy 56T

(B) 9/@o & LoPMILD @ bE W Q\F MLy HET Z%,Eg

(C) goLyumastl LoMmILD 2ovB Cradilus Q&g HeT " ‘ A ¥

(D) 2/Q\oM&S LoHmILD %G)’IJ.@GHGIS;UJJJ Q\FTLY-H 6T 05 §(B‘F 4

&

L)
»
5

87. Read the information and answer the question.
When ordered ‘One’, a person has to put one apple in a basket. When ordered ‘Two’, one

guava has to be put. When ordered ‘Three’, one orange has to be put. When ordered
‘Four’, the person has to take out one apple and one guava from the basket: The order

sequence followed the person is

123321423142233141 13234
any fruits will be there in the basket ?

At the end of the sequence, how m
(A) 10 B) 11 ©) 12 D) 13
B FHS LISl Gaerals@bsEL LBIeb STRLD .
‘e’ 6TeT Qenevaytd Guigl, @0 96, LT m@g‘%;.u_': Gmuu.ﬂfu
GumL. Geua®ILb: ‘@uan()’ T QFTeL@ILD Guryg;, 20 Qs riiwmeeILLD;
CeLpGTm)’ GTENT Qenevaytb Gugl, 20 Y TEHFLLD c1(h53) _
S &' erel QETe@ILD Gungl, IS BUT aLufedl@p3 2O
: QeuafGu 1(h65 QoueisT(HILD-

12332142314223314113234 - . .
eTaRILD afeeLiuLy SIS BT O1F o xmeh, auilenFLILIL &enL_Guilev auuiev
1SS 6T L 815 61T S@Lb ?

55 priseT @GS o 1, D 7

c) 12
(A) 10 1§D,n (ﬁ) e
&3

Y. S, S—
..-—,_—..-—-..——_—-———.—-—-.—-—..-—_.-—_.____.___.___.,_....__.-_....-__..—_..-—..-—-—@Q.—-.——.-——.—-—_—-—_...-__._ * ’F— y
L - Q"" PO -

WWW-tnpicfijOb.Com
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88. In the given diagram, find the number of triangles and squares hidden.

(A) ~ 36 Triangles, 7 Squares (B) 38 Triangles, 9 Squares
(C) 40 Triangles, 7 Squares (D) 42 Triangles, 9 Squares
@&WG?a'sasﬁ;uL',@sirm UL S$B6) 1SS FHITRISET LOPHMILD
P& Canemmiser gaflbgereneT ?
EyE
e

\/

(A) 36 wp&Canemmisen, 7 55mI%6T
(B) 38 wp&Csnemirser, 9 s5)pmiger
@ 40 p&Canewniser, 7 ¢ ImIs e
(D) 42 waCanemmiser, 9 sgiTmIS6T

89.  The Question has 3 words and 4 diagrams as optional keys. The diagram that depicts the
correct relationship among the 3 words should be selected.

3 words : Vehicle, Car, Jeep

(A) (B) OOO (©) (D) @O

Qb5 eflarnailed 3 eunigengser PMIth 4 uamguL RiseT Gsin0)sHEs

Couadrnig w eumiiiLngd Q&1®&sILL Bereng. & 3 (OQ“
unigenssepsElaL CQuuwner Cgn_ieud sluns §55Més6 gy w i
uenguL geng Csxip0ls(Bés Causss(pLb. (v

3 UMiSESSHET : quNSeILD, &, gL A0

(A) (B) OOO © ‘ (D) @O

90. Ina certain code ‘TOGETHER’ is written as ‘RQEGRIJCT". In the same code,
‘PAROLE’ will be written as

(A) NCPQIG ~ (B) NCQPIG  (C) RCPQJK (D) PCTQNG
smCGsg Pl g6 ‘TOGETHER’ @ ‘RQEGRICT’ eraw TIPS LILIL (B GTeng).
/G5 s8Gs5 GPuf 196 ‘PAROLE’ eregyih aunmigeng GT(LPSLILIL 16D
@ NCPQJG  (B) NCQPIG  (C) RCPQJK (D) PCTQNG »

. — — t— ——

— e — —
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A watch sh ~18- P
; watch shows 1. , o
91 oo honid $ 1.30 p.m. If the minute hand is towards South, what is the direction of the
(A) North
o —
g%ﬁ%ﬁg}m@ m,@ wid 1.30 wesflenws ST H&Da. FOL 1per Cspans
A,I.B .@uﬁm’ Loewil] &M Qb wpeir e1pss Densei CGETEE) @)BSELH?
EC)) zL_ascg@ (B) Ozt s RS
L LD[I)@ . . o o ¥
QUL @Epa@—,'{ ) ; ( 3
: 4 “
92. Find the wrong number in the following series ;: v 'T b
8, 14, 26, 48, 98, 194, 386 W .
) 14 (B) 48 « (C) 98 (D) 194 .4 ? 2 42
¥

93.

9%4.

Q)b euiilensulayeirar SBQUDTGYT GTevTem 6wt & 6s1(B)LILg.:
8, 14, 26, 48, 98, 194, 386

(A) 14 48 ©) 98 @) 194 B8

0.5,2,5,(?),155

(A) 5.5 (B) 9 C) 12.5 - 9.5

Select the series in which letters are not according to the general rule.

(A) PRTVXZ (B) CEGIKM (C) MORTVX (D) ZBDFHJ
Qungieunesr  aIBILLY  @ders  epsSsIsseT  oamer  GClBTL@IS
G 1ifh 0% (B &% aLb.

(A) PRTVXZ (B) CEGIKM @ MORTVX (D) + ZBDFHJ

95. The average age of a cricket team is 27 years. Two players with 24 and 27 years of age
are replaced by two new players of 23 and 28 years of age. What is the average age of the
team now ?

(A) 27 (B) 26 (C) 24 (D) 28 . .
o HNSCsL ojemiufgyerereuisaia sy auugl 27 eI GIEe HGLd. 24
LHmID 27 QUL QEBAGSSL! uBleors 23 PO 28 QIWSIGTAT
@mweuit LSSTS GergsLiuL Gerareri. @UGCLTG <y ewfluflayerereyisafia
Fgns W) 6TesT6wT?
27 (B) 26° C) 24 ., (D) 28
5 \} { \b D\ b
\:’ .
%. 7465, 398 hEs
341 282 e
250 ? \
(A) 298 i 232 (C) 350 ¢ (D) 268
il Y v A Q vt B AREmEEEE
o T GRS g N cypé
T ~  QWwiv.tnpic) .b.'e)om'
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97, The number given is S894327014. We interchange the firsta
the fourth, the fifth and the sixth and so on. Then when we
which digit will be the sinth ?

(A 3 B 2 ) 4

Qe TRESUULC Parar ey $8043276014, @D LpSe,
adledr @UARA wpOpranb, apeLb-FISTSLD,
Jurtany wdy aevs@esd Q@b LADLILEE ST .
@ OA erevenfarid aTAS eToy SR TS @Llé;@.i* @@63@ Lb?

(A) 3 ® : © 4 (D) 5

08.  What is the product of all the numbers in the dial of a telephone ?

(A)  L38480 (B)  1.39450 (C) 1,59.480 (D) None of these
2

Cx1eaCulBar Wwaliys ssL iy o drar yoagg aavsallsr CLGSSS

Setes aaran ?

(D) S

@ga’m_rnb SIS G
@pSIb- DD Q%)
awavgl Camguish

(A) 1,358,480 (B) 1,59450
(©)  1.59,480 Qappa aigiayfishensy ¢

99, In the given figure, if the centres of all the circles are joined by horizontal and vertical
lines, then how many squares can be formed ?

(A) 6 (B) 7 ©) 8 (D) 1
BpdsavL auaguL B 2 6iter eul L misaflar enwwmisamer el Lb
wpph Cesigssras Gan@saams Csnav® @aavssTad Idsamar
FHITRISET BenL_&GLb?

(D) 1

e . c— —

www.tnpscjob.com
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(A) 5.55
1,6 B) 627
Ay 5
(A) 5.55 ®) 67 -
© 603 D) 413
01. Which
1 number shoy]q replace hot _ 49 9
h the question marks in = = —
s ®) 56 A
ThS CTEGIIGg) @) 5o (C) s8 D©) 7
? 64
(A) 64 »
46 (C) 58 D) 72

102.

103.

104.

105.

A pen costs T 7 each, A scal
number of pens purchased is

(A) 2 B) 3 C) 4 (D) Data inadequate.

@@ Cobf_.!mnaﬂa:rr aflaa T 7. R0 areyCaralles aflenav T 5. X ereireur T 38
&@ QB3 @Queten b eunEIB e, Qeurt eurm@w GUeTéseT 61g%ema ?

€ costs X 5 each. X spends ¥ 38 on these stationaries. The

(A) 2 (B) 3 @ 4 (D) @&Sleugth Gunsng”
Which of the following figures is different from others ?

(A) 6385 (B) 7496 (C) 3658 (D) 4659 o
B(Lpairen 6155 GTawT LLHDEUDDI BB LonmIUL 19 (FSSDEI ? ot

(A) 6385 (B) 7496 ° (C) 3658 @ 4659

If the third date of a month is Sunday, what date will be three days after the fourth

Wednesday in the month ?

) 32 B i s u;,g')yé;@g:mé[:}mm@@[&gn@ Y ¥
: . 6‘37 .{ngl ‘Enm @n - L] . . 3 - ]

e wngg@sufﬁ%;g}mug@@wmwi@ opGTLY BT SE@ESEGLI LG eTea

oS SGEl eSS -
G & SGLD : - |
(A‘f@;” — (B) 27 () 29 30

' st nlace from above, what
In the merit rank of a class of 50 boys, a boy occupies the 31%p

' low ?

shall be his place from be © 21 (D) 18 _
(a) 20 : l 5(;9 | DT ERTaU 61T w@u@um .gggu"”f‘” ;;vmgg!
R W@Ugg’ggﬁg 31 gl @LEOF w@s@prer. BLHBES
Lomessteuest LD s i o
@uib erawaraurs AGEGE Ty gy v @8 5

0 @) 18 N :
& o0 < >

www.tnpscjob.com
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106. 49 : = : 4, find x.
(A) 16 B) 14 ©) 10 (D) None of these
49 :x=x:4, GTGIMMGY X -G RIS Saesss.
(A) 16 14 €) 10 (D) @wuphed c1yd Gaisey,

107. If we get the same number on adding 32 into the 80% of a number, then which will be
that number 9

(A) 16 (B) 160 (C) 32 (D) None of these
26 m.mmﬁm 80% 5098555 a1 erevy 32 s Ggigsned, 0S5 ey
L% LOAGSTTG, 2yhd cTevar 61 9

A
(A) 16 160« 56

C) 32 D s 00 Hat v
D)  @apdled erg10yflebeana %/

108. 28 students were di\fided into three groups A, B and C. Group B consists of twice the
number of students in Group C. Group A has half the number of students in Group C.
How many students are there in Group C ?

(A) 4 (B) 6 (C) 8 (D) 14

28  omewteuiser A, B wpmitb - C erayyLh LG (SHLPSHETISL]
KM&s LB S e, G B. Gw C @d 2 drengy Guneitry @)@ oL
LonewTauiseans ClsmevTg). GW A @&, @ C @b o erangey LG
CIGTenlgena  LoTesTeUn 6T o cirenesi. & C Q6 o.6rer Lomewieuiser
e1$gamar CLir 2

(A) 4 (B) 6 © s (D) 14
109. In the given series, find the number which is wrong : %{”‘gg’
10, 100, 1100, 11000, 111000, 1210000
(A) 1210000  (B) 11000 (€) 100 (D) 111000 By -
Clan@ssLIuL Gerar erair aullansufsh 6155 ereir SUDTEIG| ? | 7
10, 100, 1100, 11000, 111000, 1210000
(A) 1210000  (B) 11000 ©) 100 111000

110. In the given series, find the number which is wrong :
2,3,4,4,6,8,9,12, 16
(A) 3 (B) 9 C) 6 (D) 12
ClerRSsLILL Berar erevs eulenaulley e1hs cTat SUDTETG) ?
2,3,4,4,6,8,9,12, 16
(A) 3 9 C) 6 D) 12

www.tnpscjob.com
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(11. The average of four consec: . . :
order) is 104, What is theS 23;“{;? 12(;?1 c?lSm;bers P,Q,Rand S respectively (in increasing

D

(A) 204 B

; =y 2 (©) 206 212
Clsm_sElwnar RODDLILGH, oo S S G
awlenFudey aIenserner P, Q, R wmmitb S wpepGw el

&L B Ognens STelIouenay ?

204
(A) (B) 208 ) Uk D) 212

(12. In the given series, find the number which is wrong :
3, 101 27’ 4’ 169 64, 5, 25, 125
(A) 25. (B) 16 C) 10 (D) 3
ClETBSSLILL. DeiTer eTesy el e1ig erevs SupTEIS ?
3,10,27,4, 16, 64, 5, 25, 125

(A) 25 (B) 16 @ o ¢ D) 3
EYE
o

113. Complete the series
48,24, 72, 36, 108, ?
(A) 110 (B) 115 (C) 121 (D) 54
o1rer euiflensd Clgm_enplt g8 GlewiweyLb.
48, 24,72, 36, 108, ?

(A) 110 (B) 115 €) 121 54

114. In the following sum, ‘?” stands for which digit ? “
: 8 Ty
7412422423 +21=217 4]

(A) 4 (B) 6 © s (D) 9
DeiteusLh SasEley ‘7 Ianss GDISED ?

724+12+4+22+23+21=217

(A) 4 (B) 6 <€ 8 ' D) 9
2 L. ©3% ® 3
30 B) To 7 5
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116. Which should be the correct signs to balance the following cquation T
17-3x6=45
-, xand = (C) =, xand- (D) % - and =

(A) x,=and- (B
L9 Tau(mHLD FLOGTLITL- DL m® Qauiuyth aNHLOMS 2-

Fiwines @;ﬁ?ﬁr_'_m!_,ei Gupiih O (H&dasayb ?

LGursLIL®SS Qo euorig w

17-3x6=45
(A) x,= oppIb— (B) - x opmitb =
(©) = x toppith- () * - wppid=
117. Ifx:y=23:4,find (4x+35y): (5x —2y).
2 2 ) 2
(A) i (B) 0 (©) 7 (D) 9
x:y=3:4, aafle (4x +5y): (5x - 2y) @61 LoBLIGDLIS HTGHTS
2 2 320 2
(A) Kl B) " (D) 9
oki0
1 " &
118. The value of |35.7—|3+— |~ 2+ — is
]
T 24—
3 2
(A) 30 (B) 34.8 (C) 36.6 (D) 414
| 2
35.7-|3+ -2+ @)6i7 LoBILIL]
| 1
3+-— 2+—
3 2
(A) 30 (B) 34.8 ! (C) 36.6 (D) 414
543013 0.07
119. The value of 0(:_43) X(2_43) > is
(7) 35 (49)0.073 % (343)0_
}_ o 7 3 Z
(A) 3 (B) 3 €) 15 (D) 25
(243)1 x (24307 .
(7)0.25 % (49)0,0?5 ¢ (343)0_3 @W LD,@U'—I
3 i 3 2
(4) 3 (B) 3 © 7 (D) 25

—— — — — — — —

www.tnpscjob.com



R —
’ www.tnpscjob.com

1L

'

122.

123.

124.

125,

“‘h"""'“—-.

g "

[fCEG is written as TSR and FHJ is written as QPO, then IK

20

" called ‘Violet’, then what is the colour of grass ?

M is written as

() NML
(A) NOP (B) PON (C) MLK FHI 61D __%rg;ﬁ?f;u

CEG BB eTpsgibamen TSR eren arpBoIT 1o B BHE

UC% e
sraueUTml e1(Lp&IaTTsseiT ? L
(A) NOP (B) PON (C) MLK Wi

sh .4 ‘Red’, ‘Red’ 15
{f ‘Green’ is called ‘Blue’, “Blue’ is called ‘White’, «White' is called Re

(D) Blue .
Qeusiraman &1 LL;

(A) White (B) Violet (C) Red
BpLL sTeMaYLL

prsalled LdmFmw  Helonsalb, B pmseds " .
Qeuetaner BnSess Gleuli erewayd, FeuLi Fpsens 205
Fa HIGOTITGV LyavedleT BlmLb e1esTes ?

(A) Oleuerenar (B) oagm (C) &euLiy pevLb %

- ite 3 ?
If you write down all the numbers from 1 to 100, then how many times do you write

A) 11 (B) 18 (C) 20 (D) 21_ ‘ L
Pl BBS 100 eueny cIsTE T Briser e1LpSILbCUTS 3 GIGHID GTGHIoHE
1SS (LOGOD GT(LPSIMII ?

s
(&) 11 (B) 18 © 20 (D) 21
Choose the number pair / group which is different from others.
(A) 34-43 (B) 55-62 (C) 62-171 (D) 83-92

eTeu(LD G(Lp STETSaTE) 6T @l GeoumuLBHGTETSH ?
(A) 34-43 55— 62 C) 62-71 (D) 83-92

5
If A =26, SUN = 27, then CAT =7
(A) 24 (B) 27 (€C) 51 (D) 58
A = 26 e7e5fl6h SUN = 27a1aimyth L9m@ CAT = ? (eT6s165161S OEIGT,
(A) 24 (B) 27 © 5 (D) 58
In a certain code, if TREE is coded as 7100, FROG as 2159, how is FREE coded in that
code ?

(A) 2100 (B) 3100 (C) 1003 (D) 1002

Fleov @'gf?u_?@ﬁmﬂsﬁr epaotb TREE gy YmFew eIlpsens 7100 eTeID
sTaemtey @muiL ()b, FROG eTehTD 2 EGFIV T(LpSMSG 2159 GT6WD GTERTERTTEY
GBui® GlFuigmed, FREE 616D e apSams eeucuny @GPlui®aIiser ?

2100 (B) 3100 (C) 1003 (D) 1002

— — —
— . s, — — — —
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126. Effective communication will make the receivers
(A) Enjoy it (B) Acceptit
(C) Pass it on to others (D) Think about it

127.

128.

129.

130.

W& Gpps ssaevrensg QUL

(A) & paild @b

RLILIEC)ET6TOT 606U G LD s
| g

©)  wppeuisal_b Clanedev emaudELb Of

(D) Hyewsliupy) F595% anaud @b

A class of girls stands in a single line. One girl is 19" in order from both the ends. How
many girls are there in the class ?

(A) 27 (B) 37 (C) 38 (D) 39

RG  wuGLIumpuiadrer wnemallsdr yamaeumy @Gr  CrIGHILE®
auflevslled Herpart. 19-tb @ sBaysrer g wraalilsd ALl LssD
wppIb QL& udsd  sgrefluns  wremellsdr @GBSI,  3BS
aGLiIuepuiayerer Glongg Loneralser e1sgemat GLii?

(A) 27 37 ©) 38 (D) 39

If ‘NEUROTIC’ can be written as ‘TICRONEU’, then how can ‘PSYCHOTIC’ be
written ?

(A) TICOCHPSY (B) TICCHOPSY (C) TICCOHPSY (D) TICHCOPSY
‘NEUROTIC® eretip eunigengullenas ‘TICRONEU’ ereirny er(lpsLiiL’L_mev,
‘PSYCHOTIC’ a1681p euniigengullenast eraiiounm er(pgialiser 2

(A) TICOCHPSY TICCHOPSY (C) TICCOHPSY (D) TICHCOPSY

If in a certain code language ‘GREAT’ is written as ‘GRETA’, then how will ‘FIGHT’
be written in that code ?

(A) FIGTH (B) FGITH (C) FGIHT (D) FITGH

@ GO L GPuf yeert weaT($S) ‘GREAT’ a16im aumigensullener
‘GRETA’ etar erpsliuLned  ‘FIGHT' eraip eumigenguilevar e15ss
GBI 19.6) e1(1ps ML ?

FIGTH (B) FGITH (C) FGIHT* (D) FITGH

Find the correct answer of following pairs :

7544 : 5322 :: 4673 : ?

(A) 2367 (B) 2451 (C) 2531 (D) 4472

Fhwmet allevL-@wé seam@Lg. L6656 TOUDDIGT ()60 RTIITET GTERT 615 ?

7544 : 5322 ::4673:7
(A) 2367 (B) 2451 ¢ (C) 2531 (D) 4472

www.tnpscjob.com



www.tnpscjob.com

I!IIIW|ﬂHIIIIIIIIIIII\IHIN\NII\I D

-27-

_ ir of words is gj : . :on mark with the
31. A pair ot words is given, Find th - [ling the question
1 same relationship as the i pa?rCOrrect pair of words filling

Wife : Marriage 1499

() ik ; Mooy (B) Nationality : Citizenship

(C) Service : Qualification (D) Attendance : Register _
@@‘(.B%””l UM% a5 % 6ir QarRssiiuc Berors. @0 Lon @ G]'Q’HL"?L’GD.L-_W
wniga®s Ggryeamw Gsiey Qeiig Gaerads@pysrer @GL-S@5H LIS 5

QlFuIweyLb.
aaral : B bioemmid ::?: 9
(A) GuUmI&) : uewih Gs@wib : Ly yflaLp

(C) wawfl Gseneu ' 555 4 (D) au@ds : uHCUE®

132. Another term used for interpersonal communication is

(A) Group Communication (B) Face-to-face public communication -

(C) Dyadic communication (D) Traditional communication

e eariiuGLumiallenes erep Sacueh Glgmiy eumigasew Gaipl eTeuaTDl
ELPEHEGTLD ?

(A) GW3S ClsMLiy sibavg Gupader ssaed QST L]
&b Crras) Cung) sseued Lfwappib

C) @mwalever &mi F&eued LMLAHDLD

(D) wmymbuilw wpenpuiled &6 LfomHpLD

133. The transmission of culture from one generation to another is called
(A) Acculturation (B) Enculturation
(C) Interculturation ~~ (D) None of these

@0 sowepilarma@h wHbprrp soewapulsTBéGl @ Gw
aDLIRILD HGUTEFTT LOMHDLD GTGTLIG]

(A) bl seuTEFTILD
BT&TE LDWILDITE & SE6V
©) @mf_ﬁmw SGNFFTILOUILDTE &SV

E5@
(D) GupseaauppPled egiLdleencv E’I%B
134, The _ of'the state is efficient.
(A) Administration (B) Democracy
(C) Policy (D) Autocracy
LIRSS S Targ).
BliieunsLb (B) &eupmusLh
(C) Glamenrens _ (D) &reun®smgib
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I a certain code language, the English alphabets are replaced by numbcrs.lThe numb-ers
corresponding to the alphabets are given below them. But, the numbers are jumbled. Find

out which number suits the correct alphabet.

CABLMS | QRLBA | PTQAB | LRNPQ | ATRNP
ARARN V3520 52601 93716 29071

L

|_ MSPTQ | QPNAR | RABLS | TSLBA | PLQST

L S4106 | 16729 | 29583 | 80325 | 31860

What does the number 5678 represent ?

() QBSN (B) BQSN (C) BONS (D) NBQS

HUERX STUPSGIF @5 S

Kb FMGs Comyuiled, ,mIFe 6T(LpSGIsEFEHGLI LISGVTSH GTGHTHET 2 6GITaTeT.
@enestwnes erevsr SCLpuyeiTeng). HLET6, GTGISHGHT
sThs (WA  TUPSDHG 6hs eIwT  aTar BB

ERWEIRINIETR
aVey L weldsayLb.
| ABLMS | QRLBA | PTQAB | LRNPQ | ATRNP
|[ 24538 | 93526 | 52601 | 93716 | 29071 a:m
[ El.%‘.".
| MSPTQ | QPNAR | RABLS | TSLBA | PLQST
84106 | 16729 | 29583 | 80325 | 31860
5678 ST 6T63T 6160 (HMI&GHLD ? _
(A) QBSN (B) BQSN @ BQNS /(D) NBQS

Read the following passage and answer the question.
A, B, C, D and E are the five employees working in a company from Monday to Friday.
Each one is working for only one day. D and E will not work on weekends. C will work
on the day after E is working. D will work on the day before the B’s working day.

Who will work on Monday ?
(B) B
Eupssai_ LuGBeawLi Ly g CaaailéGL uFed sns.

(A) A

(©)

8

(D) D

wpsev Glevarafl eueny GCeuemew GClFISDTISET. @eIClUTHEUMBLD @ BAGT
L @G Ceusev GG eiperi. D wpmib E eury @mis prlsaefles Ceuaney
Geiwum _miser. E Ceuenev Qswicusn@ B$s pmer C Ceusmav Gauioumi.
B Gauemav Qsi1s mresé@ (et Heard D Ceauewev Glewiaumi,

BmsL &lpew Ceuenev GlFuiLeur wim?
(A) A 7 (B) B € C
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11, Below are given marks of twpq candidates P and Q in four papers each. Study these marks

and then answer the question.

—

.

E_ii_ﬂ_‘kdate P PaperT | Paper1r Paper 111 | Paper IV
Maximum Marks 75 100 0 70
Marks Obtained 45 65 50 35

Egndidate Q Paper V | Paper VI Paper VII | Paper VIII
Maximum Marks 80 75 100 70
Marks Obtained 56 44 40 42

Considering the performance of P and Q together, who has put up the best performance
in which paper ?

(A) Pinpaperll (B) QinpaperV (C) PinpaperI (D) Q inpaper VI

P wppib Q elenib @@ LomewTeuAEET, BAGTS un_rigaflev  Glumm
eI LTS 8L yefl$sLILL Rererer.

LomassTeu i P smarl | smerll | smerlll smearIV

PSS 75 100 80 70 o
Lo &)L'16) L GusT '
CupD 45 65 | 50 35

o) L1G) L GvsT

Lomewreur Q gnearV | gner VI | gmer VII | smer VIII

DS F 80 75 100 70

Lo&)L10) L GvsT

Qumpmp 56 44 40 42

L&) 16) Livr

P wpmb Q @euder @GS RUUIL®, wri eIbsLl UML_SS6v
Was Oplriunas Gsiée) QUDDIGTTTT GTeTs5 &ai&?

(A) P ereiriouit greir Il @)ab Q ereitiauit gmeir V. @)eb
(C) Pergrusuigmarl @& 7 (D) Qeramuaui gmer VI @eb

—————
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138. Refer to the Diagram and answer the question.

7
/3 I
8 6] 13
12
4
9 11

Rectangle represents Males

: _E?é,lil
Triangle represent Educated )
Circle represents Urban
Square represents Civil Servants.

Who among the following is a male civil servant who is neither educated nor belong to

urban area ?
(A) 7 (B) 13 C) 4 D) 1
Can®sgierer UL gLl Lmigs) Caaralls@pé@ L LB FgayLb..

/3

8 6) 13

7

Clssiiousih oy ansemend; @Ps@ng).

W& Canewth LY Sgauismend GBERDE.

QUL_L LD B&I$H) aBLILIuISeard GDEEDS).

FGIILD G-t Liewlluleh o arGarnangd @HES D).

ECuarenaupsled 615 LG SSUBLD JWWTS FEISE u&IICunpLD
YOS G einLll Lanflulleh G)BSGL @ e BLMTE GHER DS ?

A) 7 ®) 13/ C) 4 D) 1
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139. Study the Ollowing Information and answer the question given below :
Six fiends B, R, §, Tana ar

. ) e sitting in a row in the North direction. R is between P
and T, S is 1ot in the eng point. Q

is immediate right of T. U is not at the right end.
Who is to the immediate lefy of g

il ) » © TorP (D) S
@5”@56;““":'@@5" SEUDOL LIy gg), B o erer CaarallsErsGL LSV
SU@|LD.

P, Q R, S, T wpmup U

SILOABSIGTGTETI.. R 6r6irLsey P &b T s pOCGau e srenmi. S erestueu
sOL_5&Gx 9 ufeh

A& ym BeLIrseT el & Crrés euflenFwns

Qoo Q aduat T 45 awsUPSHY AGSs5Ts
o arernr. U erestiicurt UGILDS HenL_&Basmig ufed @)evemav.

R ASTLQIGSS QL-SIUDSBeh 2B Ss515 o cronaut w2
(A) T P (C) TorP @) s 7

&

®
¥R

140. Read the information and give answer,

There are 5 persons P, Q, R, S and T. One is a football player. One is a chess player. One
is a hockey player. P and S are unmarried ladies and do not participate in any game.
None of the ladies play chess or football. There is a married couple, in which T is the
husband. Q is the brother of R and is neither a chess player nor a hockey player.

Who is the hockey player ?

(A) P B) Q © r D) S
SEQUNGV BTG LIS, LIS FTajLb.

P,Q,R, S wpmib T Hw 5 puiser. e SMeoLBg afoi. @meurt ggoms
Q?gﬁ'. @@G}Jﬁ' Mmﬂ%@ Gﬂ'mir. P LD‘I_I.)QJLI) S %@Glﬂﬁﬁ @@L{)Gﬂm’mrrgrrg wsaelr.
Souiser e alleenumnyad sebg  QstereTtseiser. 6153 Ol eum(r
wsaflmLd F&1omEGom, srevubGsT aflenerwm_aleeney. B Loewriomes S
Cgmguileh T eretrueuit sewauir yaumi. R whmib Q sCanggisenieut. Q
Fams afgGom yevevgl annss) afgGrm Hen_wng).

Qeviseflsh aprs® afgi wmi

(A) p B) Q ©) R D) s

i,

N ———

_l-_-'_-"__-'——\-—hl——.—--n—-.
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